[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

[} F I’J
K} F o
S r =
§ 10*F 3
F (5}
g2 2102
3 . sl 2
S 10°F S
I 3
E @
2 L
10°F 10
lOE—
1
1k
o o v
g 3
o 14
1 ot
0%¥25-20-15-10 5 0 5 10 15 20 25 0¥)5T30-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_mkFit_TThase
—e— DQM_mKFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
—— DQM_mkFit_TT_baseline_6iter
I N of sim| —— DQM_mKkFit6_TT retrainOldFiles125_v2_prelimWP_epoch4
1] - . P P 1J
Q@ - . . o
S =
£ g
2 E
3 2
© g 10
= 3
x
2" M '~': i o+ i
=1 MR i =1 i
H\MHH\HMHHHLHHH I LI HOCHNRR
=1 0.4—02 0 0.2 -1-0.8-0.6-0.4-0.2 0 0.2 0.4 060 1
TP xy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
Q< F N o
8 I . =
51045_"""""""""'. """""""""" 3
3 . o
g F T 210°
S .5l : 2
© 10°F S
FE e
F x
10? S S i
10F
1=
9 L. F
T
04
F
0¥ =20 -0 0 10 20 30 0¥ 20 -i0 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} 2
o o
L =
F
(5}
g 2102
x [%]
Q c
@ S
= 3
i3
10
1
g o i
K & 105
fl 2
H bl
0BT 05 0 =TT 05

0.5 1
TP dz(PV) (cm)

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


